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2022

GEOGRAPHY — GENERAL
Paper : GE/CC-3
(Human Geography)
Full Marks : 50

Candidates are required to give their answers in their own words

as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

Group - A

Answer any five questions (within 50 words).

. What is forced migration?

What is Man-Land Ratio?

What do you mean by ‘Break of Bulk Point’?

What is ‘zero population growth’?

What is meant by ‘Isotim’?

Give the definition of a town area according to the Indian Census.
What do you mean by ‘Globalisation’?

What is ‘Cultural Seggregation’?

Group - B

Answer any four questions (within 150 words).

Classify rural settlement based on pattern and shape.
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What are the positive and negative impacts of migration? ;
Write a short note about Losch’s Theory. :
Give the characteristics of agricultural society. 5
What do you understand by ‘social conflict’? Give example. ;
What are the cultural hearth of the ancient world? .

5

Give the causes for the development of Iron and Steel industry in eastern India.

Group - C

Answer any two questions (within 500 words).

: : istributi f these
What are major language families and sub-families of India? Discuss the distribution pattern o

T 5+5
language families in India. :
- 10
Discuss the theory of Least Cost Industrial Location of Weber.
: : 10
Discuss about Cultural Region with examples. :

Discuss about the concentration of cotton textile industry in Western India. 10



